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OXtdalg@2e] oFIl 72 600,000 +2CH 1,200
= 1,990 1,990 0

SHALAHI B A2 1,990 1,990 0
OZY=HA ggFEIsls A

30,0003 *33& 990

10,0002 1002 1,000

MEE ESULXE 8,215 8,075 140
5,750
2,465

o

402 RI2tX 201 & 8,215 8,075 140

5,750
2,465
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= 8,215 8,075 140
At 8,215
N & (2ha) 8,215,000& 8,215
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2,465
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243,407
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213,808
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130,957
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01 Al£Hl 397,872 219,337 178,535
OZHIEXZ ALY 397,872
—dM==8 2= (3ha) 7,130,000& 7,130
4,258
862
2,010
—ME} 2 (29%ha) 115,832,000& 115,832
88,902
8,331
18,599
—bolE&2 =4 (30ha) 83,070,000& 83,070
55,098
8,618
19,354
—2U2 32 =& (6ha) 68,380,000 68,380
34,001
10,500
23,879
—Xg & 2el(2sha) 13,498,000& 13,498
9,449
1,214
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Hu: MUNE SH(SYHSSM/YY - AE)
SOl mESALY (Etel: &8
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 2,835
— MY PER(20ha) 109,962,000 109,962
= 22,100
= 26,598
= 61,264
03 Al & = CHH| 3,016 1,352 1,664
O=HI2 EAY 3,016
—MEH EZ(2%ha)  116,673,0008+0.72/100 841
—HHOIR= &8 X4 (30ha)
83,825,000 *0.90/100 755
—2UR39 X2 (6ha)
69,002,000 %0.90/100 622
— AT BH = P E 2 (20na)
110,760,000 %0.72/ 100 798
402 QI2EXHR O 38,056 33,056 0
= 29,599
= 2,537
= 5,920
01 QAR 38,056 38,056 0
O=HI2 E A 33,056
—SEEX ZE(15ha)  42,284,0008%90/100 33,056
= 29,599
= 2,537
= 5,920
AT ZRl X 6,240 8, 184 A 1,944
201 2Bre Y| 3,000 3,000 0
01 Ak 22l 2,100 2,100 0
ozl 2,100,0002 2,100
02 BB=2H| 900 900 0
OAl&ZHIR X bl 900
-2 JIHE 22 45,0009 *10CH 450
—£21R0| oI e 45,0002 *10CH 450
202 04 | 3,240 5,184 A 1,944
01 2UH 01| 3,240 5, 184 A 1,944
OME0IB XIE HREZ 3,240,000% 3,240
EOHRIIAFS X 2 4,133,971 4,258,066 124,095
= 2,310,638
= 546,905
= 1,076,428
101 @1 248 167,480 325,946 158,466
= 100,299
= 20,060
= 47,121
04 JIAR2ERSES 167,480 325,946 158,466
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2R SH(SHBaA/AY - AHE)
CHel: =X AALY (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
O2HIBZ ALY 167,480
—AFZIHIOIQOHA 2= 21221 (10Y)
133,460,000 133,460
= 80,076
[= 16,015
= 37,369
— MEIEALE(2Y) 34,020,000 34,020
= 20,223
[= 4,045
= 9,752
301 Lt A2 4,000 7,200 23,200
= 4,000
10 HALAHI B A2 4,000 7,200 23,200
O=HIBZ ALY 4,000
— A HIOIQA £EES nEEHH (109
) 4,000,000& 4,000
= 4,000
401 Al H L 20| 3,962,491 3,289,384 673,107
= 2,206,339
< 526,845
= 1,229,307
01 Al&H] 3,782,133 3,096,461 685,672
OZHIBZ ALY 3,782,133
—==JFRD| AF(3000ha) 3,700,433,000& 3,700,433
= 2,074,742
[= 495,554
= 1,130,137
— X2 AFE 22 (200ha) 81,700,000 81,700
= 45,801
[= 10,992
= 24,907
02 22l 157,072 154,956 2,116
O2HIBZ ALY 157,072
—=JFRI| AF2(3000ha) 157,072,000 157,072
= 78,536
[= 18,847
= 59,689
03 Al& SCHH 23,286 37,967 A 14,681
OZHIBZ ALY 23,286
—=JFRI| AF(3000ha)
3,867,949,0002 *0.27/100 10,444
— X2 AFE2t2/(200ha)
82,442,000 *0.90/100 742
—A2IHIOI QA A22T & 2(10Y)
12,100,000 12,100
= 7,260
[= 1,452
= 3,388

|
IS
|




SN
X XH .
S Tt

el

P

(i

o
=

CEAES

=2
R
J2H

W

4,480
2,240

672
1,568

MW

4,480
2,240

672
1,568

4,480

o
o
e
rJ
)
o2
=

> @

®
3
=
oz

02 A

|
x
o
02

=2

11

=
Jor
Ja
0x

4,480,000

H MW

4,480
4,480
4,480

2,240
672
1,568

4,480

SEIICIEE AlA

E-H?,

==}

i

MM

18,000
5,400
3,780
8,820

18,000

W

18,000
5,400
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3,780
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24,000,000&
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MW

H

104,000
104,000

24,000
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3,600

8,400
80,000
40,000
12,000
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973,087

551,159

421,928

o




SN
X XH .
S Tt

el

A (iaDI

:gfo =] HCék:_'_AA‘_}/OI%-I,
H
=

> iz
P o o
=l
Z [
o]
P
Tt

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

681,163
145,962
145,962

M HY OR

101 el A4l 15,600 15,600 0
10,920
2,340
2,340

HHY o8

04 J12tHI 2= 15,600 15,600 0
S A MY 15,600
) 15,600,000& 15,600

10,920
2,340
2,340

M H oY

401 Al HIZ 2 Y] 957,487 535,559 421,928
670,243
143,622
143,622

M H oY

01 A& H] 950,314 531,580 418,734
AL HMESEIAHAL 950,314
& &= (Tkm) 85,612,000& 85,612
60,474
12,958
12,180
— & E A& A(2km) 403,118,000& 403,118
284,230
60,906
57,982
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56,770
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47,250
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314,328
500,000

93,137
313,220

1,717,559

N496,874

SMHOISIHE X &

MW

46,060
19,740

2,895
23,425

93,600

AA47,540

402 SI2tX=01 &

M

46,060
19,740

2,895
23,425

93,600

A47,540

) B2(1400)

65,800,000& *70/100

MW

46,060
46,060

46,060
19,740

2,895
23,425
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A47,540

H W

407,785
263,518

43,277
100,990
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402 212+ A= 01 &

H MW

407,785
263,518

43,277
100,990

453,759

N45,974
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38,734,000 *40/100

H

H MW

61,843,000& *40/100

407,785
407,785
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7,747
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5,423
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10,014
3,004
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453,759

A45,974
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M
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14,170
6,085
89,085

H

402 SI2tX201 A 109, 340 251,000 141,660
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6,085
89,085

W

2 109, 340 251,000 141,660
T A 26,340
THHHATE (10H4) 40,850,000 %40/ 100 16,340

8,170
4,085
4,085

H W

—XFS AFANEL(1MA)

20,000,000 %50/ 100 10,000
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2,000
2,000
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SHXI =& (20ha) 30,000,000 30,000

H

0o

O O
2

02 rx
0T Mo
0z 4
M

0o
=
Mo
10
O
il
o

32,500 49,200 A 16,700
16,900

3,380
12,220

AW

402 QI 2tXH2 01 A 32,500 49,200 216,700
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SA: AED
Hu: MEXE SH(SYHSSM/YY - AE)
ool Ua2 ASKE (Etel: &8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
= 1,000
= 200
= 800
—NE T L AZAIL(1HA)
60,000, 000! %40/ 100 24,000
= 12,000
= 2,400
= 9,600
—UAR REIIBHAZ) NI (10H)
13,000,000 50/ 100 6,500
= 3,900
= 780
= 1,820
STHIHBAIEXI & 625,000 0 625,000
= 500,000
= 37,500
= 87,500
402 QI2EXHR O 625,000 0 625,000
= 500,000
= 37,500
= 87,500
01 QRSB E 625,000 0 625,000
OBAN AL NS5 H AL 625,000
—SYIT HXAY 625,000,000 625,000
= 500,000
= 37,500
= 87,500
MY 2sne 2,944,960 2,956,925 A 11,965
= 379,040
= 37,800
= 265,072
= 2,263,048
AR B AR 1,444, 144 1,168,495 275,649
101 @124t 1,012,936 763,717 249,219
VSIETEEPETPN 1,012,936 763,717 249,219
OMEIIS 2AH 771,318
-Jl=3 36,6002 +90 * 168 554,753
—Fsgsy 36,6009 *90% x40 132,084
—4zEE 686,837, 0002 *12.3% 84,481
OMEEL A 237,170
—Jl=3 36,6002 x28% » 1662 170,536
—FEYsy 36,6002 x28% *402 41,003
—4HREE 207,648,000 *12.3% 25,541
OIS ST 2IIoHE 22| olee 4,448
-Jle3 36,6002 %22 x452 3,303
—Fsgsy 36,6002 x22 x02 661
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_ _ pSNE e
Ao BB ERI(BI) - MIRAY - B S Abod i aon =
—AEE= 3,932,000& x12.3% 484
201 et2Ad| 12,570 12,470 100
01 AR 2t eld| 6,220 6,920 A700
Oget=8gH| 2,920
— YR SEI| FAEEE
10, 000& *150CH 1,500
—MEAME Ml S5 284,000 #52 1,420
O=&tl 3,300, 000& 3,300
02 23244l 6,350 5,550 800
OBZRZ % HA 1,200
—Z0Rtsaz 175,000& 4= D| 700
— b= 2 A0 2 23 50,0003 *42 7| 200
—MERH SRS 25,000& 123 300
OAN&EZEHIS X 5,150,000& 5,150
202 ¢4 4l 5,184 6,912 N1,728
01 =2 WA bl 5,184 6,912 AN1,728
OueEs XE & 5,184,000& 5,184
203 R =2 2,500 2,500 0
03 AIMFR AR =AY 2,500 2,500 0
ObteE Al 2 Aty =& 2,500,000 2,500
206 = Hl 96,230 58,946 37,284
01 =4l 96,230 58,946 37,284
OdtE2 X2 A2 10,000 *3800H 3,800
Ot 2y 84 60,0003 1804 1,080
OMZZY HY- 2 5,000 * 1700} 850
O2AYAEX MM (s 2,000 50004 1,000
OL=ZANE RFEFL 5,000& «100H 168 84,000
Ot=ZAIE 1=+ 55,000& =100 5,500
301 et a3 5,000 5,000 0
12 J|Et2 &3 5,000 5,000 0
Ot LA WS 10,000& 100 * 12/ 1,000
OarZEs B0 EW
5,000 *32H x253] 4,000
302 OI=2L T EA = 10,000 0 10,000
02 QIZtoITHoH 2 &t 3 10,000 0 10,000
OLIF SZ A = 10,000,000& 10,000
308 KX SHHMSOIA 189,724 167,250 AT,526
05 MXIEH2IREZ 159,724 167,250 NT,526
O&EYX dIYxt 2= 159,724,000& 189,724
402 QI2H X201 ™ 140,000 150,000 A 10,000
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SA AR
HE: MUNY SH(SEHSTA/AY - AE)
CHol: AT 2spel (el &2
_ _ - MEg
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
02 21 2HCH 3 AL HI 140,000 150,000 210,000
ORI SZYH 5247 L s+ +2
140,000,000 140,000
Sz zepe 279,600 127,294 152,306
2 37,800
= 113,340
z 128,460
401 A& HIL 2T 279,600 127,294 152,306
2 37,800
= 113,340
z 128,460
01 Al&HI 277,306 126,377 150,929
OZAN AL HESH 3| H ALY 74,919
—Sa2 T4 220(2.4km) 74,919,000 74,919
= 37,800
[ 11,340
z 25,779
OSHI B EAY 202,387
—20 SAZ =& (5km) 123,107,000 123,107
S 62,000
z 61,107
—BtA YU MR SAZ FY|
79,280,000 79,280
[ 40,000
z 39,280
03 Al&Z S CH| 2,294 917 1,377
OZAN AL HESH 3| H ALY 681
—S&2 T4 221(2.4km)
75,600,0002!%0.90/ 100 681
OGHIBEAY 1,613
— S04 SAZ =4 (5kn)
124,000,000 0.72/100 893
—BtAE YU MR SAZ Y|
80,000,000 %0.90/ 100 720
254 FHHIAY 55,510 42,612 12,898
= 9,920
z 45,590
401 A& HIL 2T 55,510 42,612 12,898
= 9,920
z 45,590
01 Al & ] 55,010 42,151 12,859
OGHI B E ALY 55,010
-954 FH|(132) 55,010,0002! 55,010
= 9,920
z 45,090
03 Al&Z S CH| 500 461 39
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237,915
106,211
250,662
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101 el Hl 421,988 340,150 81,838
168,795

75,107
178,086

M

04 JIZHHZ2Z2NHSES 421,988 340, 150 81,838
O=HIExAS 421,988

|2 &St (60E) 378,000,000 378,000

151,200

67,189
159,611
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Ho
2

W

—MEXM2HLREH ZH>L(6F)

1,500,000& 1,500
600
270
630
—4E28g = 42,488,000& 42,488
16,995
7,648
17,845

MW

A

201 24 23,900 19,510 4,390
9,560
4,302
10,038

H M

I 8,950 8,950 0
o 8,950
Xk 248 (790%) 3,950,000 3,950

1,580
71
1,659

W

—20IAAIIMHE SXE2(1HA)
5,000,000 5,000

2,000
900
2,100

H W

HAIAE Sald(1150H)

14,950,000&

W

14,950
14,950

14,950
5,980
2,691
6,279
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4,390
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4,000

3,600
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T ALY 4,000
&g E54HI(200%) 4,000,000& 4,000

1,600
720
1,680
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206 M= 4l 64,900 64,270 630
25,960
11,682
27,258

M

01 =4 64,900 64,270 630
O=HIEx=AY 64,900
Ol & 3t & HI (807H) 40,000,000 40,000

16,000
7,200
16,800

W

—MEXHZHYISH 2L=(60E)
24,000,000 24,000
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3o Al (20021 E1) 900,000& 900
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17,500,000& 17,500
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M
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2 SE(1)

8,500,000& 8,500
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i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES agell oﬁ/?OH =&
= 1,600
[ 720
= 1,680
AEIHG SN 2 X 152,990 166,455 A 13,465
= 74,043
[= 22,185
= 56,762
101 @1 A4 H| 79,393 78,368 1,025
= 48,270
[= 14,452
= 16,671
04 JI2HH22EE 2 79,393 78,368 1,025
OZHIBZ ALY 79,393
—slsLte XIA2HH(10ha) 1,521,000 1,521
= 786
[~ 221
= 514
— QLR AH Y XA (10ha)
1,514,000 1,514
= 780
[= 220
= 514
— Ol & RPRISH(1E) 76,358,000 76,358
= 46,704
[= 14,011
= 15,643
201 L2 A 17,050 17,050 0
01 At22t2H 10,450 10,450 0
O2HIBZ ALY 10,450
— LM AZE 2| 2,200,000 2,200
— O EHS MHFAXS(10H) 8,250,000 8,250
02 22| 6,600 6,600 0
O2HIBZ ALY 6,600
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